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Plot [['EcFgro’', 'EcFzExp', 'EcPltng’, 'ECdef’, 'water_ec’]]

3500

3000

| —¢—  EcFzExp
| —>¢— ECdef
—>— water_ec

2500

2000

1500

1000

Warning: co '] is missing

500

Y= B -

75

100

125

200 2 28 XX XX X 2 X X

175




Plot [’ ECopt’]
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Plot Sensor and FgRec Data
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Plot [['setVlI ETcl’, 'setVI fgRec', 'setVI VN, 'sl|SetVI' ]]
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Plot [['ECC:b—0’, 'FVIEC:r—o', 'ECl:g—0o']]
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Plot [['FVOEC:r-o’, 'ECO:g—o’]]
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Plot [['PHC:b—0’, 'FVIPH:r—o', 'PHl:g—0o']]
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Plot [['FVOPH:r-o’, 'PHO:g—o’]]
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11:30 283 150.0 3. 24 = Rig011:30 Bah (RAEES)
13:00 283 150.0 3.24 = {Ri%e13:00 B3 (RFAEDSE)
14:05 283 150. 0 3.24 El {Rige14:05 Bzh (GREERSE)
15:20 283 150.0 3.24 F BRige15:20 Bz CGRAERESE)
16:50 283 150.0 3. 24 S| {Ri%016:50 B3 (RAERSE)
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REXRERIPH (10.34) 5i8EPH (6.5) IREW K, BT
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1 [EKECE (2677.0 vs 4278.0) B
LORGEBIPH (10.4) 5i1&EE (6.5) wERK, BRE.

LORGEBIPH (10.4) S5#AE (6.5) REHKK, BHRE.
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G3-1

BfiE) | GEBATK (7)) | ERE (BEH/f) | ERERE (B/R) | XS R

08:15 226 130.0 2.808 |Z=| 1BRi%e08:15 Bzl (RAEREE)
09:25 226 130.0 2.808 |Z=| {Ri&e09:25 Bz (REERSE)
11:15 226 130.0 2.808 (Z=| 1Rige11:15 Bz (GREAERSE)
13:05 226 130.0 2.808 [/\ii| {Ri%@13:05 Bz (KRAEHSE)
14:15 226 130.0 2. 808 FA| {Ri%e14:15 Bz CGRAEEE)
2t 1130.0 (5%) 650. 0 3ZHKEC: 2500.0, PH: 6.5

BEXRERIPH (10.36) 5i8EPH (6.5) IREWR K, BT
FEREIPH (10.36) 5FMPH (6.5 REKK, FHE
#[ERECE (2753.0 vs 4658.0) 15
LORGEBIPH (10.4) 5i1&EE (6.5) wERK, BRE.

LORGEBIPH (10.4) S5#AE (6.5) REHKK, BHRE.
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G3-1

BfiE) | GEBAK Y | ERE (EAR/H) | ERERE (B/R) | XS EE

06:05 145 110.0 2.376 S| {Ri%@06:05 Bz (KRAMERSE)
06:50 145 110.0 2.376 E  1BRi&e06:50 BE1 (RAERE)
07:35 145 110.0 2.376 E|  {Ri&e07:35 B3h (RE{EREE)
08:45 145 110.0 2.376 = {Ri%e08:45 Bz (KRAERSE)
09:50 145 110.0 2.376 F  1BRi&@09:50 Bz (RAERE)
10:50 145 110.0 2.376 | 1Ri%e10:50 Bz (RATEREE)
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15:50 145 110.0 2.376 El 1BRi&e15:50 Bz GRAEREE)
16:45 145 110.0 2.376 = RRiB016:45 Bz (REAEESE)
2it|1885.0 (13%) 1430.0 FHIKEC: 2500.0, PH: 6.5

SRR TER A (0.49 vs 0.56), FIALH % MRS S EEENKERE

LOREBIRTC R IR R E Y (218 vs 193.0))
BRI\ EPRERE124.0 ml.

REXEBIPH (10.53) 5i&EPH (6.4) RER KA, HFHE
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#E[EIRECE (2752. 0 vs 4535.0) i35
LOREBIPH (10.4) 58 FE (6.5 RERK, AT,

ERGEBPH (10.4) S5EEEW (6.5 RERK, HRE.
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